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Summary
In this brief contribution, we compare the performance of the following turbo rate matching algorithms:

· Circular buffer RM as per 36.212 v1.3.0, i.e. sigma=1, delta=2.

· Circular buffer RM as per 36.212 v1.3.0, except sigma=delta=3.
· Circular buffer RM as per 36.212 v1.3.0, except sigma=delta=4.

The simulations cover all the QPP interleaver sizes. In a previous contribution, R1-073193, we employed 6 turbo decoding iterations and extrinsic information weighting of 1. Since it was pointed out that the gains of the rate matching algorithm variants may be dependent on these parameters, in this set of simulations we used 8 decoding iterations and extrinsic information weighting of 0.75.

From the following plots we can observe that different algorithm variants show marginally improved performance at different coding rates. However, no single algorithm showed consistently superior performance under all tested conditions. Therefore, we propose keeping the currently agreed parameters, namely sigma=1, delta=2.
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